Name: Date #29 Parts of a linear function

e eraph below displays the amount a music - - a
The graph below display o 'he graph below shows the weight ol a

ownload store customer pays per month. o gory b
download store CUSIOMET pays | bucket as it s Olled with sand.
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Songs Purchased
What does the v-mtercept indicate?
A. The cost of a song 1s 310.

The cost of a song 1s 32,
The subscription fee is $10.

D. The subscription lee 1s $2.

3. Tell a story that fits the graph. Make sure you give the rates to help explain the story.
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5.
- Cinda saw the following graph ina litness
4 | I'he araph below shows the monthly cost of inda {h“’* the foll £ £hd]
—— 4 long-distance calling plan. Magasime.
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What does the slope of the graph represent”? E‘ |
l Lol zero minutes ol calls 2 4 & 8 CCL[
> cost ol zero ot es 0l calls o
\ : Miles Walked mﬂ
the cost per addinonal minutes of
long-distance calls Which does the slope ol the graph represent?

C. the todb<gst of long-distance calls
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D. the numdsr of minutes $1 can buy A. I>Q| calories burned

B. (0¥l distance walked

Jcalories burned per mile walked

). mules walked per hour

6.
Ramon is adding water W his swimming 7.
|'HJD].. The gmph below shows the amount o The l_:_w_rr;u-,h helow re PICSCNS the amount
water in the pool as more water 1s added. Samira pays for her cell phone service: a

monthly fee plus a charge for each mnute

A "_‘ i she uses her phone.
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What does the y-intercept represent? E =0
A. the additional gallons of water uddud}x’ ;g :
iminute '
the total time needed o {ill the pool v - W ISe XS 5o e
the amount of water in the pool before "
more water was added What does the v-mtercept indicate?
D. the otal amount of waler needed to (il A. Her monthly lee s $60 '

the pool

Her rate per mimute is SO0,
Her monthly fee is $20.
D, Her rate per mimute 1s $0.20.

8. Explain why a x-intercept would not make sense
In the context of #4, 6, and 7.
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